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PART A: Vocabulary

Directions: Choose the word or phrase (1), {2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

5

10-

You might not be thinking about cholesterol yet, but high levels of cholesterol increase

yvour ----——- of heart disease, so find out what your level is now.

1) risk 2) level 3) strength 4) exposure

With the —-—-- of the Internet, working from home has become a real phenomenon,

1} demonstration 2) credibality 3) advent 4) dexternty

The teacher was gratified to see two older students --——-—-- to settle the playground
dispute between a number of third and fourth graders.

1} raise 2) encourage 3) promaote 4) intervene

Even though the unemployment rate continues to --——--—, voters are still unhappy with
the president’s economic plan.

1) restore 2) abandon 3) abate 4) delay

Her maudlin display of tears at work did not impress her new boss, who felt she should
try to control her —-,

|} emotions 2) secrets 3) errors 4) restrictions

The heavy rain did not —-----—-- —, 50 they cancelled their camping trip.

1) emerge 2) evaporate 3) subside 4) collapse

Whitney is -——--—- about her shoes, arranging them on a shelf in a specific order, each
pair evenly spaced.

1) spectacular 2) fastidious 3) conscientious 4) conventional

This agreement is very ------ —- and open to various interpretations.

1} mtentional 2) diverse

3) superficial 4) ambiguous

Because our instructor was so unclear, 1 had to continually ask him to -——---- and
repeat what he was saying,

1) justify 2) clarify

3) emerge 4) improvise

Because of the chels - -- cooking style, his food is easily identified in a taste test.

1) experimental 2) flexible

3) distinct 4) constant

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3). or (4) besi fits

|each space. Then mark the correct choice on your answer sheet.

Remembering the past is an integral part of human existence. Without a good memory,
vou would not be able to drive to work, hold a meaningful conversation with your

children, (11) =-=-==--- a book or prepare a meal.

Memory has fascinated humans since (12) ---—--——-- . Plato famously compared our
memory to a wax tablet that 15 blank at birth (13) -—--—-—-- on the impression of the
events from our life. Only in the past hundred years, though, (14) ===mmuame systematic

objective techniques that have enabled us to study our recollections of the past with
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scientific accuracy and reproducibility. These range from laboratory tests of our ability

to remember verbal and visual materials (15) ==e=ececaeee more recent bram-imaging
approaches.
11- 1) then read 2) reading 3) toread 4) read
12- 1) ancient times 2) ancient time 3) time of ancient  4) times of ancient
13- 1)slowing taking  2) to slowly take 3) and slowly takes 4) that slowly takes
14- 1) psychologists have developed 2) have psychologists developed
3) with psychologists developing 4) for psychologists to develop
15- 1) with 2) from 3)in 4) to

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the gquestions by choosing the best

choice (1), (2), (3). or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Catalysis is a term coined by Baron J. J. Berzelius in 1835 to describe the property of
substances that facilitate chemical reactions without being consumed in them. A broad
definition of catalysis also allows for materials that slow the rate of a reaction.
Whereas catalysts can greatly affect the rate of a reaction, the equilibrium composition
of reactants and products is still determined solely by thermodynamics. Heterogeneous
catalysts are distinguished from homogeneous catalysts by the different phases present
during reaction. Homogeneous catalysts are present in the same phase as reactants and
products. usually hquid, while heterogeneous catalysts are present in a different phase,
usually solid. The main advantage of using a heterogeneous catalyst is the relative ease
of catalyst separation from the product stream that aids in the creation of continuous
chemical processes. Additionally, heterogeneous catalysts are typically more tolerant
of extreme operating conditions than their homogeneous analogues.

A heterogeneous catalytic reaction involves adsorption of reactants from a flwid
phase onto a solid surface, surface reaction of adsorbed species, and desorption of
products into the fluid phase.

16- Catalyst, according to the passage, is a/an -------——-----
1) additional substance influencing the speed of a Lhemmal reaction
2) material consumed in chemical reactions
3) property of materials affecting the equilibrium composition of reactants
4) substance helping to form a more qualified product
17- The word "solely" in line 5 can be replaced by -----————-- "
1) almost 2) firmly 3) largely 4) only
18- You can infer from the passage that homogeneous catalysts -———-———- 3
1) are more involved in the creation of the final product
2) are not resistant in extreme operating conditions
3) can not tolerate the continuous chemical processes
4) create equilibrium among the reaction processes
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19- Heterogeneous catalysts are preferred because they —--—-———-—-- ;
1) occupy a different phase compared to the reaction mixture
2) aid better in increasing the rate of chemical processes
3) can adsorb molecules of gases or liquids onto their surfaces
4) can be separated from a reaction in a stranghtforward manner

PASSAGE 2;

A pure compound 15 a sample consisting only of molecules having the same structure.
However, substances believed to be pure on the basis of certain criteria may actually
contain small amounts of contaminants. Indeed. the presence of impurities in what
were believed to be pure compounds has sometimes led to incorrect structural
assignments and scientific conclusions. The possibility of making such errors was of
particular concern prior to the advent of the powerful chromatographic and spectral
techniques that have been developed since the 1950s. it is now relatively easy for the
chemust to purify sohds and lhiquids and to demonstrate their purity.

A compound formed in a chemical reaction or extracted from some natural source
is rarely pure when initially isolated. For example, a chemical transformation intended
to produce a single product almost invariably yields a reaction mixture containing a
number of contaminants. These may include the products of side reactions proceeding
concurrently with the main reaction, unchanged starting materials, morganic matenals,
and solvents. Unfortunately, even chemicals purchased commercially are not always
pure, owing to the expense of the needed purification process or to decomposition that
may occur during storage.

Recrystallization of solids is a valuable technique to master because it is one of the
methods used most often for purification of solids. Other techniques for purifying
sohids include sublimation, extrachion and chromatography. Nevertheless, even when
one of these alternative methods of purification has been used, the solid material thus
isolated may still be recrystallized to achieve the highest possible state of purity.

20-  You can infer from the passage that a pure compound -----—-—------ —
1) can be a substance containing any amount of contaminants
2) helps scientists reach to all scientific results
3) is a homogeneous element made of merely one type of molecules
4) 1s the 1solated product extracted from a natural source in the first phase
21- Which sentence. according to the passage, is correct?
1) After the second half of the 20" century, the uncertainties about the purification
have lessened to a large extent.
2) The advent of the powerful chromatographic and spectral techniques has brought a
particular concern for chemists.
3) Purifying the solids and liquids and demonstrating their purity requires a large
amounts of effort.
4) Before the development of spectral techniques, the chemist couldn't purify the
substances,
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22- Recrystalization, as mentioned in the passage, is ——--———-- .
1) used along with 3 other ways for purifying all materials
2) merely a valuable technmique to 1solate pure substances
3) an alternative manner used in the last phase of solid purification
4) the best method for purifying solids
13- The word "master" in the first line of the last paragraph means -————-—- -,
1) apply 2) learn 3) manage 4) record
24- In this passage the author mainly presents ———--=-——--- i
1) the different ways of purification
2) some things leading to incorrect scientific conclusions
3) an introductory definition of pure compound
4) the difficulties occuring in the phases of purification
25- The commercial chemical products, —------ —
1) for their high degree of impurity, make a particular concern
2) due to the severe conditions of storage, contain few amounts of contaminants
3) owning to the expense of purification process or decompositions, are always impure
4) because of high cost of purification and decomposition, are sometimes impure
In reality most fluids are non-Newtonian, which means that their viscosity is
dependent on shear rate or the deformation history. In contrast to Newtonian fluids,
non-Newtonian fluids display either a nonlimear relation between shear stress and
shear rate (thinning or thickening) or viscosity that is dependent on time or
deformation history.
A fluid is shear thickening if the viscosity of the fluid increases as the shear rate
imcreases. A common example of shear thickening fluids 15 a mixture of cornstarch and
water. Fluids are shear thinning if the viscosity decreases as the shear rate increases.
Shear thinming flmds, also known as pseudo-plastics, are ubiquitous n industrial and
biological processes. Common examples include ketchup, paints and blood.
Non-Newtonian behavior of fluds can be caused by several factors, all of them
related to structural reorganization of the fluid molecules due to flow. In polymer
melts and solutions, 1t i1s the alignment of the highly amsotropic chains that results in a
decreased viscosity, In colloids, it is the segregation of the different phases in the flow
that causes a shear thinning behavior.
26- The best title for this passage is -—-——-=---- -

1) Fluids Behaviours

2}y non-Newtonian Fluids

3) A Comparative Analysis on Liquids

4) Viscosity Effects on Newtonian and Non-newtonian Fluds
27-  Which one is the distinet characteristic of the majority of Muids?

1) Their viscosity may depend on deformation history.

2) The deformation history effects on their viscosity 1s inevitable.

3} The structural reorzanization of the fluid molecules is flow-independent.

4) In the muxture of cornstarch and water, the shear rate enhancement lessens the viscosity.
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28- Al of the following are true EXCEPT ——---——- 4

1) the examples of shear thinning fluids are not limited to non-living samples

2) in non-Newtonian fluids, the profile of viscosity vs shear rate 1s either ascending or

descending

3)in cmllmids, the sedimentation of the phases in the flow causes a shear thinming behavior

4} in polymer melts and solutions, chains arrangement quality affects the viscosity
29-  Pseudo-plastic are fluids -——-———---—

1} whose viscosity 15 under the rEhﬂl‘ILE of the rate of the shear

2) that the relation between their shear rate and shear stress is linear

3) that require a minimum shear stress to be applied

4) whose viscosity remain constant
30- The word "ubiquitous” in paragraph 2 is closest in meaning to ---———-----— ;

1) all-over 2) complementary

3) ever-present 4) extensive
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